1. Dr. Frog
Expression: 4 +(-2)

Ends up at?

2. Winner
Expression: =5 +(-7)+2

Ends up at?




Delbert Sr.
Words: got off to a horrible start, hopping 10 feet backwards before recovering to

gain 6 feet.

Expression:

Ends up at?

12 -

Hooper
Words: Hooper has a lot of energy for this contest. She has a giant 10 foot jump

forward. But hen she becomes confused and hops the wrong way four feet and
then the wrong way another six feet.

Expression:

12 -



The next four problems all involve 9 and 3. As you work through each problem think
about how they are alike and different.

5. Warped 9 -3

Ends up at?
-<t—t—t—t+—t+—t+—t+—t+t+—t+—+—+—+—+——+—+—t+—+—+—+—+—+—++
2 11 10 9 -8 -7 6 5 -4 3 2 41 0 1 2 3 4 5 6 7 8 9 10 11 12
Words:
6. Skeeter Eater-9 -3
Ends up at?
-<+—+—tttt+t+t+—+—+—+F—+—t—F+—F—F+—+—+—+-
2 11 40 9 -8 7 6 5 -4 3 2 4 0 1 2 3 4 5 6 7 8 9 10 11 12



7. Me Hop 9 -(-3)

Ends up at?

8. Hopping Hoover -9 —(-3)

Ends up at?

Words:



If you finish before we’re ready to move on. Take turns inventing expressions or
story problems for your partner to solve. You can use the number lines below.

<+t
42 171 10 9 -8 -7 6 S5 4 3 2 4 0 1 2 3 4 5 6 7 8 9 10 11 12

<>
42 1 10 9 -8 -7 6 5 4 3 2 4 0 1 2 3 4 5 6 7 8 9 10 M1 12

<+t
42 1 10 9 8 -7 6 5 4 3 2 4 0 1 2 3 4 5 6 7 8 9 10 M1 12



